FC402 (2023/24) RAGUR'S SPEAKING NOTES FOR CLASS

Varihs 782 (WKS, AT)

QZ Q4 Q5 SEE MY EQUATIONS ZELOW

REWRITING IN A MORE FAMILIAR WAY: Note that  $T \underset{t=1}{\overset{T}{\underset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\underset{t=1}{\overset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\overset{T}{\underset{t=1}{\underset{t=1}{\overset{T}{\underset{t=1}{\underset{t=1}{\overset{T}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\overset{T}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\overset{T}{\underset{t=1}{\atopt=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\underset{t=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\underset{t=1}{\atopt=1}{\underset{t=1}{\atopt=1}{\atopt=1}{\underset{t=1}{\atopt=1}{\atopt=1}{\atopt=1}{\atopt=1}{\atopt=1}{t$ Please do try to derive if not obvious. The only trick is to realise  $\sum_{t=1}^{\infty} \overline{z_t} = T\overline{z_t}$ Clearly then,  $T \sum_{t=1}^{7} (x_t - \bar{x})^2 = T \left[ \sum_{t=1}^{7} x_t^2 - T \bar{x}^2 \right]$ 

 $1 hus, \beta_2 = \frac{1}{2} (n_k - \bar{n}) (y_l - \bar{y}) / \frac{1}{2} (n_k - \bar{n}) (y_l - \bar{y}) / \frac{1}{2} (n_k - \bar{n})^2$ and & ... on next slide.

 $\begin{bmatrix} T & T & T & T & T & T \\ \Sigma & \chi_{E} & \Sigma & Y_{E} & - & \Sigma & \chi_{E} & \Sigma & \chi_{Y_{E}} \end{bmatrix}$ <u>к</u> Б. = Δ numerator? in the if we + -16, =  $r^{-}$  T<sup>2</sup>  $\bar{\chi}^{1}$   $\bar{\chi}$ えず . 1.L. +  $= \underbrace{y} \left[ \underbrace{T \sum_{k=1}^{T} \chi_{k}^{2}}_{t=1} - \underbrace{T \sum_{k=1}^{T} \chi_{k}}_{t=1} - \underbrace{T \sum_{k=1}^{T} \chi_{k}}_{t=1} \underbrace{Y_{k}}_{t=1} - \underbrace{T \sum_{k=1}^{T} \chi_{k}}_{t=1} - \underbrace{T \sum_{k=1}$  $\hat{b}_{,} = \bar{y} - \hat{\beta}\bar{z}$ •

- In this question, we have 
$$X = 1$$
 where  $1$  is a T-dimensional  
vector of rnes.  
- To  $\beta := (x'x')X'y$   
 $= (1/1)'y'y'$   
 $= (-T') \sum_{t=1}^{t} y_t$   
 $= \overline{y}$   
-  $7_x := x(x'x')'X'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $= 1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'$   
 $1!(1/1)' 1'(1')' 1'$   
 $1!(1/1)' 1'(1')' 1$ 

- 
$$M_X := \overline{T}_T - x [x|x] x$$
  
=  $\overline{T}_T - \overline{T}_x$   
=  $\overline{T}_T - \overline{T}_x$   
=  $\overline{T}_T - \overline{T}_x$   
-  $\overline{T}_T - \overline{T}_T$   
-  $\overline{T}_T - \overline{T}_T$ 

$$\begin{aligned} & 05(k) \text{ We have } y = x\hat{\beta} + \hat{z} = \hat{y} + \hat{z} \text{ Shaw that } TSS = ESS + RSS. \\ & \text{Step1: } y'y = (\hat{y} + \hat{z})'(\hat{y} + \hat{z}) = \hat{y}'\hat{y} + \hat{z}'\hat{y} + \hat{y}'\hat{z} + \hat{z}'\hat{z} \text{ ,} \\ & \text{Note that } \hat{y}'\hat{z} \text{ why? } \hat{z}'\hat{y} = z'M_{X}X \hat{z} \text{ why? } \\ & \cdots y'y = \hat{y}'\hat{y} + \hat{z}'\hat{z} \text{ ,} \\ & \text{Step2: Note that } \hat{y}\hat{z} = \hat{y}\hat{y} + \hat{z}\hat{z}\hat{z} \text{ ,} \\ & \text{Step2: Note that } \hat{y}\hat{z} = \hat{y}\hat{y} - T\hat{y}\hat{z} + \hat{z}\hat{z}\hat{z} \text{ ,} \\ & \text{Step3: } y'y - T\hat{y}^2 = \hat{y}'\hat{y} - T\hat{y}^2 + \hat{z}\hat{z}\hat{z} \text{ ,} \\ & \text{Step3: } y'y - T\hat{y}^2 = \hat{y}'\hat{y} - T\hat{y}\hat{z}^2 + \hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{y}\hat{z} - \hat{z}\hat{z}\hat{y}\hat{y} - T\hat{y}\hat{z}^2 + \hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ & \hat{z}\hat{z}\hat{z} \text{ ,} \\ \\ & \hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ \\ & \hat{z}\hat{z}\hat{z} \text{ ,} \\ \\ & \hat{z}\hat{z}\hat{z} \text{ ,} \\ \\ & \hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ \\ & \hat{z}\hat{z}\hat{z}\hat{z} \text{ ,} \\ \\ & \hat{z}\hat{z}\hat{z} \text{ ,}$$

$$\begin{aligned} & \left( \begin{array}{c} S(b) \ Show: R^{2} = \left[ \begin{array}{c} Corr\left( y_{b}, \hat{y}_{b} \right) \right]^{2} \\ & \text{lut } y^{*} := (y - \bar{y}), \text{ and } \hat{y}^{*} := (\hat{y} - \bar{y}), \text{ Shill assuming } X \text{ contains a binstant.} \\ & \text{Shepl. } R^{2} := \frac{gss}{gs} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{16s} \end{array} \\ & \frac{y^{*} & y^{*}}{16s} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ y^{*} & y^{*} \end{array} \right] \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} = \left. \begin{array}{c} y^{*} & y^{*} \\ \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y^{*}} \end{array} \\ & \frac{y^{*} & y^{*}}{y$$